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ItemCode:101278
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ItemCode:101202
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ItemCode:101203
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ItemCode: 101204
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ItemCode:101209
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ItemCode:101211
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ItemCode:101214
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Topic Name:Physics-Section A
ItemCode:101215
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Topic Name:Physics-Section A
ItemCode:101216
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Topic Name:Physics-Section A
ItemCode:101217
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Topic Name:Physics-Section A
ItemCode:101218
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Topic Name:Physics-Section A
ItemCode:101219
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ItemCode:101220
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Topic Name:Physics-Section B
ItemCode:101223
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ItemCode:101224
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Topic Name:Physics-Section B

ItemCode:101226
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ItemCode:101227
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ItemCode:101229
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ItemCode:101230
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Topic Name:Chemistry-Section A
ItemCode:101231
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Topic Name:Chemistry-Section A

ItemCode:101232
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ItemCode:101233
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A fagaaci Rerdht enftr 39 fafdera gorag= g — da I wfyeyor 90° @
P faggaiar ferdt anfor d9 fafdea soreet= g — du g ufwyor 90° @
€ sl Rercht anfor G fafdea sorae 70 — o g7 ufomyor 90° @
P et Rerht anfor AW fafdea serag g — g g gRiwdor 90° o

Q:64
Topic Name:Chemistry-Section A

ItemCode:101234

fa=meaien UriS® S 2MftT T WifeTH AR SWARIEN J[EU (pH=4) TIR BRI 377E.

& SR TR SRS | CHyCH,COO ] o TUIRR 3N
[CH;CH,COOH] - '

(emyrR §@Adl K, (CH,CH,COOH)=1.3x1073)

Question:



A 0.03
B3
Cl10.23
D1'D.33

Q:65
Topic Name:Chemistry-Section A

ItemCode:101235

) - 137 IIeY - 110 Oy SIsar &

Tt - 1 ey - 11
(A) RUI YHIRG 4Tl ()  Fe,O5-xH,0
(B) el YU hiciel (II) Cds 4
(C) &= y9IRa | (II) ¥rd
(D) == (IV) <A
ouestion wrell feeren vafage arg R e
A (A) - (1), (B) - (1), (©) - (IV), (D) - (@)
B (A) - (), (B) - (I), () - (D), (D) - (IV)
€ (A)- (1), (B) - (1), (C) - (1), (D) - (IV)
P (A)- (D, (B) - (1), (©) - (II), (D) - (IV)
Q:66

Topic Name: Chemistry-Section A
ItemCode:101236

Y - 127 I - 1N AR s ardr

It - I (Oxide) ISl - 11 (Nature)
(A) CL,0, ) SwILHf
(B) Na,O (I) mATR &t
(C) AL, (III) IS
(D) N,O (IV) mr et

Gl Jarag arg g faer ¢

V), (B) - (), (©) - (1), (D) - (1)
V), (B) - (1), (©) - (1), (D) - (1)

- (@
D, (B) - (1), (C) - (1), (D) - (IV)

Question:

a
_— A P
T E T
1
F E F Y
R
-
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o
1
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Topic Name:Chemistry-Section A
ItemCode:101237

DI YIGRTEAT FIspyora @refler ifHifhar amRard
FeO+SiO, — FeSiO,

ouestion: €O M1 FeSiO, g™ 3wed.
Y wafeme afr S

b wra enfor emgee

© yrgEa efor

P afremer anfer e

Q:68
Topic Name:Chemistry-Section A

ItemCode:101238
SISl A FHEe Uidiem (1H), Sgciism (CH fdhar D) amfor fedrsm (3H fbar T) ared,
i IS JOTH Sa@ — 9@ ARG e g Wi quierd i omed. &me g RO
Question: — 3T|%
A et E@E@del B
B o siiie B

b S L] [
scldclidd dAxebllidier Y
P odry aegHERI BRE

Q:69
Topic Name:Chemistry-Section A

ItemCode: 101239

Question: WD R SfFags 3R,
Al 80,
B SO,
ClCax

D| AL,

Q:70
Topic Name: Chemistry-Section A

ItemCode:101240
feretedn RISl difeagsaed N,O, N,O,, N,O, 31T N,O. , N—N d 3Rieteir/<ll |g/

Question: g )

Al 1

B| 2
<l 3



Q:71
Topic Name:Chemistry-Section A

ItemCode:101241

Question: TN TECTT Y21 PIOTAT =l 3T “S” & & P affferaes Rerdiia ame?
A H28203
? H28206
¢ HESZC)?

H,5,04

Q:72
Topic Name:Chemistry-Section A

ItemCode:101242

TR S g1 Il sRER fagm 3.

Question:

A ¥ o TaWE B

P ¥R, g% enfr SO, sy ame

€ ¥ AUUER) gER I

P ¥ oRiqW TSR AffEIge B
Q7

Topic Name:Chemistry-Section A
ItemCode:101243

el WY aREX [UPAC g 3MTe.

O,N Z
Queson O O
A 4-methyl-2-nitro-5-oxohept-3-enal
B 4-methyl-5-ox0-2-nitrohept-3-enal
€ 4-methyl-6-nitro-3-oxohept-4-enal

D 6-formyl-4—methyl-2-njtrohex-3-enal

Q:74
Topic Name:Chemistry-Section A



ItemCode:101244

feetem aififpd=n v SR 3.
@91, Me = — CH,3T?)

Me OH
_+_
H' p
Me ERICASREIE
: Me

Question
A Me
Me
Me
B Me Me
Me
C Me Me
Me
D Me Me
CH,
Q:75

Topic Name:Chemistry-Section A
ItemCode:101245

Al _ChA y A fhagel affifes e

(i) CN-

(iii) H,O/H*
Question: N II III A ———a—e Gﬂ%
A Br

CH,CH;



c CHj3
Br
D CH=CH,
Br
Q:76

Topic Name:Chemistry-Section A
ItemCode:101246

IRYERICERISS, BHcsass 31 K,CO, ded aifHfehar o9 |G ‘A’ &, §gT ‘A’ KCN
SRISR 3IHHAT BB |G ‘B <d. O Wl AUEeAHaR ReR |y 'C’ < |g7 ‘C 3rre.

Question:

A C|H3
HO—CHZ—(I:—CIH—COOH

CH,OH

B HO-CH,CH,— (I:H - (|:H — COOH

CH; OH
c o)
HO
H,C O
H,C
D 0
H,C
H;C 5
HO
Q:77

Topic Name:Chemistry-Section A



ItemCode:101247

Wreitel AMfAfpA=ar dewiarel Ay uar
NH,

HNO,
> IS
H,S0,, 288 k

(A) o TICRIMRT oM p-ragRiffer & T&u Sue amed.
(B) p-TRICISIRTT YT m-ARICISie & Hie S 3imed.
(C) HNO, 31 % B B,

(D) H,SO, 3 # BRI HAl.
Question: SRTER TG Fyaer :
A (A) emfdr (C) TRER faum™ ama.
¥ (A) emftT (D) RER faem amed.
€ (B) anfor (D) W fage e,
P (B) anfor (C) SRIX faur am.

Q:78
Topic Name:Chemistry-Section A

ItemCode:101248

fasm (A) Fafifes Tex & orafus oEd sRicrel, SMIRITY YT dgdlRG 3. Sl
Rrg—gifeTsma=ae  #aurdTd.

PR (R) : Rrer—ifersmaaIfi=a Y] 87 Aol HeTeR] YaRI SAFAfhi , el |-
Tha Gilseiel RN

Tl AFITTEAR AR FR 37T

Question:

A SRR (A) ST (R) ®R SR T (R) ¥ (A) ¥ SRER TEIGRUT 3R,
PS8 (A) MR (R) &R M U9 (R) ¥ (A) ¥ TRIGR TSEIBROT AT,
€ (A) TX 3T U (R) W ATE.

P (A)@e I TUT (R) @R IR,

Q:79
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ItemCode: 101249

STl WG ‘X, 3ed H,SO, IR1ER 3fehlalered] Gaulld Shacday G- sl A 3T B TR
BT, A, HNO, SRex=a1 diffaaes aififehdm fhe oWl od. Uo7 ‘B’ amegul afms. ‘X
e

Question:

A Areerd



B W

C _-
Y

Q:80
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ItemCode: 101250

cie aiuyg B .

Question:

Al H

HO

HO ph

Q:81
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ItemCode:101251

100 g 3Te¥ a0 416 L= Rieiex M 1.5 bar I/ M7 27°C AIGHIHTE SaeT 3. arga Yvdm
TEGAH g mol ™! 3. (Sidcsedl QUi 31Te)
(MR FHA : R=0.083 L bar K~ ! mol~1)

Question:

Q:82
Topic Name:Chemistry-Section B

ItemCode:101252

1 ¥iel HREFd 1 bar &6 30T 300 K AYHMI SESdl Wisd Sdeiq del. A-H®= —601.70
k] mol . & eiffpiaRar eidRe ol dad k] 3.  (Siqeea quiterd)
Question: (TN A :R=83] K~ ! mol™ 1)
Q:83

Topic Name:Chemistry-Section B



ItemCode:101253

Had T (C,HNO,) 3eiel 2.5 g WEH Umd faveesgT 500 mL S/E0 TaR hel. &l
STEUTET 300 K STOETel IRRIR S 5.03 X 10 72 bar 38, UIEH AUl TN Udhd I TRl

ame. (R=0.083 L bar K~ mol 1)

Question:

Q:84
Topic Name:Chemistry-Section B

ItemCode:101254
Wretlar  fufepaiae
Sn2+ +2e~ — Sn

Sn4t +4e~ — Sn

golaers fawa go i, = 0.140 V 3TfoT E? 41, =0.010V. Sntt /Sn2* ST YHIUT Selders

Sn /
faya ¥ qou = B, . x1072V e,
.. Sn™"/Sn
Question:
Q:85
Topic Name:Chemistry-Section B
ItemCode: 101255
PRI Yeraearal sfegdrel 200 faad o, 83 fiaw R Yeraadred 4@ Wfhadd Thsan]
AT g (Sideel uiiend)
(MR T : antilog 0.125 =1.333,
. antilog 0.693 =4.93)
Question:
Q:86

Topic Name:Chemistry-Section B
ItemCode:101256
4 ==
[Fe(CN),]

[Fe(CN) 3~
[Ti(CN)eP
[Ni(CN),J*~
[Co(CN)J3~

Question:

Q:87
Topic Name:Chemistry-Section B

ItemCode:101257
() CoCly4 NH, (b) CoClLy5NH,; () CoCly6NH, 3T (d) CoCI(NO,),5NH,.

TITID! RF—gr B AV e/ elidl A 3T

Question:

Q:88
Topic Name: Chemistry-Section B



ItemCode:101258

‘C,H, O Erse STl 0.492 g HTE Sgmen qof SR 0.793 g CO, ST 0.442 ¢
H,0 fied. & dgma afffeasr = Srsar 3Te (STacear quiieTd)

Question:

Q:89
Topic Name:Chemistry-Section B

ItemCode:101259

Gleflel 3ifHfh3rear Y@ STaTd ST 370] 37T

/
Brz
O v
Q:90

Topic Name:Chemistry-Section B
ItemCode:101260

Sregl 0.01 M KMnO, & &rau, 20.0 mL 0.05 M HEd S@UTd &gRed ©del. 50 mL 9gREd ol
qrEie I B, SifaH AMHIGHOY (end point) KMnO, STEUTY &RE ALY fdefel THRAMN
mL. (Sawea] o)

Question:

Question:



